=
s

M
1\33

fbgﬁ:gi%&‘ﬁ“‘ﬂﬂmlﬁé‘%‘\ \fg #
i%ﬁg%%%ﬁ%1Xﬁ$%£gﬁgowﬁﬁT§

AR par A A BTt TR OE RS
2%1 Eﬁ@/z’k%—”—"ﬁ igg? ?éfgﬁ&%;q:

T oo

. ?‘;%_LLL IE%’}E;%-? £} ccmp@seed.net.tw
Notice:

| ndividual students, nonprofit libraries, or schoolsare
permitted to make fair use of the papersand its
solutions. Republication, systematic copying, or
multiple reproduction of any part of thismaterial is
permitted only under license from the Chiuchang

M athematics Foundation.

Requestsfor such permission should be made by
e-mailing Mr. Wen-Hsien SUN ccmp@seed.net.tw



FP% o F T i iR

International :Matﬁematws Assessments for Schools

2016 - B 3 &% - kPR
T IXpERF L 75 A48

AT

CIBENEIH ) AT YRRV 2 T Rl R %io

AR EL ik T RA A REERR

PP R*ERAEFR S NEA G 2T 0 DR fHA o

R TREZ B AT AR B - TR

B 2048 5 EHA 0 ARG I BER > HEESR LA BEIT o Bt 53

$$E%W€«é0%i9%w&ﬁﬁ,&B—@mg{@%ﬁ%ﬁﬁﬁ%

B o 0Bt X4 ¢ Bldos B

A FE AT A RB R E ORI “v'JﬂPé-"’J/‘?i{ﬁ.'%\\B T e
BIEARTH - FFEBEF

**ﬁ%bwp FEE I8 ) B (3 AL A L )e
SWALR NN FAE AR T PH VIR
BEFTRE O FFEB A TR GEHAA L SR

2T HEREIFRREL IMAS AyEE miRg & K 4 £z




2016/ B % £ & 5% - iR

1-10 %% » * 45 3 A~

1. # R & 34162+ 1620 620 201:0iE 330 2 A& 7
(A) 9459 (B) 9639 (C) 9819 (D) 9999 (E) 10089

2. FR TR BEE N R ?
(A) 1.2x34=1% 3. (B) 0.98x0.99> 09 (C)
(D) 10.4x 0.k 1.0 (E) 1.1x1.1> 1..

Wl
I QI

1
<
3

N

3. THA-&@TY R OEFFRL et o

HRT G R BEA A LY - Bl A TR A 09

(A) (B) (C)

/

(D) (E)




2
4, FERF2TF A AafEpE o < FEFELL 638 FF 55 1000 ~ -
TRERES 21 EF 5 F 04007 o G R 1269 0 R 230 &
FRgp o 2r | FRERE SR
(A) 100 (B) 200 (C) 250 (D) 350 (E) 400
S. ttﬁ”‘vﬂji%r'ﬁﬁt‘i’ﬁ—lmii—?’ﬁr'“@f%r’rwj‘ﬂg‘:éiti%ﬁ&%f*’%[ﬁﬁ?
R RN 1S 3 A R L S o 0 A L S0 Ml 3
mo?
a b C A
e |
f g h
(A) a (B) c (C) f (D) h (E)d

6. UTEARIZITHTEEY P FTREL KL IR L R ¥R
FUE A RS 5 A9

BWE Y L EE LA
A B BB A B A T
42 100 16 84.5

(A) 672 (B) 3528 (C) 3549 (D) 4200 (E) 4872

7. R 192# 120cha Kk 5B 7

(A) 1 (B) 2 (C) 6 (D) 8 (E) 10
8. [ AF- AEFEL L WK S w&;ﬁ%kbﬁ—*?%“?owéﬁ;

BFFIA R EAF AL RFIABT g o ¢ E B 20 397 5

RigAhFhr v a3 52097

(A) 351 (B) 399 (C) 360 (D) 408 (E) 432




UF 3

9. THEHNI BEFY KG ARk F B g F Y Hshondcd 2
WHRT g F LG K EF MR A REF P duge ﬁmﬁ+ﬂﬁ*—®
o FRATRE S P B e o ?

(A) (B) (C)
- - -—
3 1 i3 ’ 2 @ ik 2 B i h
41 2 3% 3Bk 4 B Fk
(D) (E)
- -
3B zk 3B izk
3 BF 2 Bv 3

10. @ foitw i fe a & 22 65 0 [T 2 E 78 100 kmg 4230 8 22 5 R
T B A 200k S R S 0 km? (B R BEHINA)
(A)416  (B)417  (C)418 (D) 419  (E) 420

11-20 42 » # {g 4 &

11 T Bl 5 5427 enf & A 5 2014# 22 20165& & 5 & gl £ 4750 8]0 3R 2015
ER v 2014 hpdE S8R0

B PeASERH
270

250 23 ~J
5 200 /;); /253\§: 205
£ 15 210

150 / 180 | _e—2015

100 “ia —0— 2014

50
v F o $23% IE

(A) 23 (B) 48 (C) 85 (D) 90 (E) 110




UF 4

12. %3 5 LenE A RE 204c > W AN - Mo B H @ A IS E B2
LA e AR RS 324 BFHRE BN - B LAR
HERFEDLTLAR o AR RER S 5640 FR ) TR

FIT ST Lam s v ?
(A) 5 (B)G (C) 7 (D) 8 (E) 9

13. ¢ w37 XF n3p L ESHILE 12253~ RSP
Pl d IR > T P endpip e e T B R 0 K f;# v B3N o E4F
PEERRF Y E - P IRPAAICT G 0L ek G 215 7 I ik
B onEE s ?

(A) 100 (B) 105 (C) 108 (D) 109 (E) 215

L4 % G et ¢ 3 120960 ) 30 © 4f 18004 | jigr 24004 2 v 3
R A EF G LW end ] 1%L R SRR R RS R

FEHREF FAD
(A) 1296000 (B) 1582200 (C) 1800000 (D) 1586400 (E) 1291800

15. & & 304% - B e Alch 24 g%-yg S LA T 50 @9

(A)5 (B) 6 (C) 7 (D) 8 (E) 9

Py B EApEar 2 2 2258 - B P 2 ABer g -
EF € & > 4o T Bl¥*rm o ILEHEH P - f@;é‘b&ﬁf"%’j;nlé‘pa}éi—; o
£

16. 4
1if

225 (EgiEAY P #E 23 ) J_J_”S’W/rn’f-—,.ﬁ.
3

Aj

I a =N

_w\%\ J\_‘m‘_

—,—_§”1m’f-—n$3§‘\§f ARG - AHER o FRI LR S
= #2508 AB £ %ﬂjﬁvi@EFﬂfﬁ:ib?

N

AE
B(F)

(A) 20 (B) 18 (C) 12 (D) 10 (E) 6




UF5
17. - BREprs P > A PR TA Fihd kg kY o S TREE S
Bhop op oA [ A A B 180°% 4 o R T SR B ] R 4 48 A 4 end
AR E NSt £ 2(G2:01:10: 2547 F B 12104 25
7f/'/‘o)
(A) 06:00: 15 (B) 10:10: 30 (C) 12:30: 18
(D) 14:50: 00 (E) 20: 20: 00

18. G A= 4h¢ %08 :5kg#eh F ¢ &) 48 % ; 10kg#£eh & ¢ &} %
92 & ; 25kg i K & B 5 2107 o FE & (B4 kg & f enT o8 16k
SORCHREICZHE G S0 ?

(A) 4 (B) 5 (C) 6 (D) 7 (E) 8

19 W THY BEF 5o BAd b el HE A (5233)) ?

(A) 25 (B) 26 (C) 27 (D) 28 (E) 29

20. TRl s e BEEZ A G 7cms 6cm> 3cm> 2cm HfF] 0 FE-= B ] DF] &
BoX P E R T AL B Y - A IR IR E eIt e g R4 E
Wz BRCLFA EAINe dhm ff2fe ?

(A) (B) (C)

(D) (E)




UF 6

21.

21-25 3% » % 4 6 A

FELB AR e F S EFF AR G 22 - F A5 R
piy?agj\%ﬁ P S ACEFA T AT 22 4 0 W A E A AL 4 4
sz TR jgf[%flﬁ&fg’{; "ﬁ 50 f,.%‘fi ?

22.*~

2R 'B‘ﬁt i%:f? L
ﬁL{rﬂvu{r7 B4 e s

23.

— s 20cmrm_*’1;’uum—u+jgpHe—;»'f[; SRR EE

Gl ré « >ehd f s 50 enf? (nB- 3.14)

24,

= LB R - B 13 4o SRR 564 © ABCDEFGHIJKLM - ¢ g
f6—- PHBBMIEELAE > vt A3 N geT

£ S=A+3B+C+ID+E+F +G+ H+1+J+K+ 3 F St 10444
Gupdes 00 PIM =0 % S 1 10 47 (F skl 5 to BIM =10-t -

nt - B n'*»;%* 45 5 6901020109017 3¢ T[], p erdesy £ A A& 2

901020109017

25.

©hr— B e 12 15 F 15tk R 3218 28 Rk i B Een
oA B B 7] 0 8 et ok A0l e gk 10 B0 o R e B 2 Rl
i+ -

*k %k Xk






